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Part A: Listening

7 . : : o
L/ Listen and mark your answers to questions 1-15 in the answer sheet. The audio will

be played only once.
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1) What will the woman do on Friday?
a) Go to the movies with the man.
b) Take her brother to the movies.
c) Eat at her brother's.
d) Cook dinner with Lois.

2) What does the woman mean?

a) The man should have offered his assistance earlier.

b) She doesn't need the man's help.
c) She didn't realize the boxes were empty.
d) She wants the man to move the boxes.

3) What does the man imply?
a) He'd like to have the windows open.
b) He rarely leaves the windows open.
c) He thinks the air is polluted.
d) He'll help her close the windows.

4) What does the woman mean?
a) The results might be ready tomorrow.
b) The man needs another test tomorrow.
c) The results were called in last night.
d) The doctor called the lab last night.

5) What does the woman imply?
a) She doesn't remember much about Portland.
b) She's never been to Portland.

c) She knows someone else who could help him.

d) She'd be happy to talk to the man later.

6) What will the woman probably do?
a) Turn down the volume.
b) Help the man study for a test.
c) Play a different kind of music.
d) Speak louder.




7) What does the woman mean?
a) She forgot when the report was due.
b) She'd like the man to help her with the report.
c) She needs more time to finish the report.
d) She hasn't included any data in her report.

8) What does the man imply?
a) The cat is a lot of trouble.
b) The cat is quite friendly.
c¢) He doesn't get along with Debbie.
d) He's glad Debbie gave him the cat.

9) What does the woman suggest the man do?
a) Try to get a seat next to the window.
b) Find another passenger going to Cleveland.
c) Ask for information about the departure time.
d) Find out if there are any seats led on the bus.

10) What does the woman mean?
a) She forgot to stop at the store.
b) The man shouldn't eat the fish.
c) The fish is safe to eat.
d) The food shouldn't be reheated.

11) What does the woman imply?
a) She won't be able to go with the man.
b) She doesn't think Frank is arriving until tomorrow morning.
c) She has to pick up Frank at 2:00.
d) She doesn't know when her class will end.

12) What does the man mean?
a) He watched the television program with his mother.
b) His mother told him his professor was on television.
c) Answering the phone caused him to miss the television program.
d) His mother missed the television program.

13) What does the man mean?
a) The pool will be open all week.
b) The weather will cool down soon.
¢) The woman should go swimming.
d) He prefers to stay inside in hot weather.

14) What problem does the woman think the man may have?
a) He may not have enough time to cook.
b) He may spend more money on food next semester.
c) He may gain weight if he does his own cooking.
d) He may not enjoy cooking.

15) What can be inferred about the man?
a) He's tired.
b) He lost the race.
¢) He has already been to the top of the hill.
d) He prefers doing exercise indoors.




Part B: Grammar

»
L// Section 1. Read each test item carefully and answer the questions by choosing the
answer (a), (b), (c) or (d). Then mark the correct choice on your answer sheet.

16) The sky suddenly grew ... and a strong wind stated to blow.
a) darkly b) dark c) darken

17) When it rains, we may avoid ... outside.
a) to stay b) stayed C) stay

18) ... I am busy with my work, you should not disturb me.
a) Whenever b) Whoever c) Whatever

19) She suddenly cried ... she was afraid of something.
a) as if b) though c) however

20) Did you read ... article about education in Iran?

a) the recently b) recent c) the recent

21) Some people cannot ... the stories they are told.

a) remember b) to remember c) remembering

22) “What are the office hours where you work?”

“..., everyone comes in at eight and leaves at five.”

d) darkness

d) staying

d) However

d) nevertheless

d) a recent

d) remembered

a) General b) In generally c) In the general d) In general

23) He is ... deaf to hear what we say.

a) so b) enough c) too d) such

24) What ... he has brought.

a) a useful information ¢) useful information

b) an useful information d) useful informations

25) As he owed me money, he tried to avoid ... me.

a) meet b) to meet c) meeting  d) be meeting ]




26) Walking across the road, ....
a) a bus knocked him down ¢) he was knocked down by a bus
b) he was by a bus knocked d) a bus knocked down him

27) His brother was born ....
a) at 1949, in April c) on April, 1949
b) 1949, at April d) in April, 1949

28) He told me he ....
a) had already the film seen c) the film had already seen

b) had seen already the film d) had seen the film already

Lo . .
s/ Section 2. Choose the underlined words or phrases that need to be corrected. Mark
the answers on your answer sheet.

29) Being the biggest expanse of brackish water in the world, the Baltic Sea is of
a b C
special interesting to scientists.
d

30) Statistical methods have found_ wide application in the psychological_testing field
a b C
and in the studied of human behavior.
d

31) When television was first introduced, the extent to that it would affect society could
a b C
not have been foreseen.
d

32) The Egyptians first discovered that drying fruit preserved it, made it sweeter, and

a b C
improvement its flavor.
d
33) Algebra is the branch of mathematics concerned with operations on sets of
a b
numbers or other elements that are often represented at symbols.
C d
34) When a spacecraft is operating beyond the atmosphere, its fins and wings not longer serve
a b c
to stabilize it.

d




35) The prices of homes are as high in urban areas that most young people cannot afford
ab c
buy them.
d

36) Unlike oxygen, which is chemical changed by our bodies into carbon dioxide, nitrogen is
a b

merely exhaled back into the air.
c d

37) Laser technology is the heart of a new generation of high-speed copiers and printer.
a b C d

38) International trade, going travelling, and television have lain the groundwork for
a b C

modern global life styles.
d

39) Because he had not been able to hear well, Gibert asked what the question was?
a b C d

40) She speaks always English to her boss while she is in the office.
a b c d

Part C: Vocabulary

»
L// Read each test item carefully and answer the questions by choosing the answer (a),
(b), (c) or (d). Then mark the correct choice on your answer sheet.

Vocabulary Part 1: Gap-Filling

41) In ancient Egypt, people ... in houses made of wood and mud.

a) included b) dwelt c) built d) protected

42) Children growing up in ... areas are far more likely to turn to crime.

a) civilized b) strong ¢) ventilated d) deprived




43) The author was embarrassed when he was found to have ... widely.

a) placed b) dominated c) plagiarized d) started

44) ... is the study of human body movements.
a) Psychology b) Pedagogy ¢) Meteorology d) Kinesics

45) For many people, the ... to invent something new is their curiosity.

a) hazard b) symptom c) trigger d) exception
46) As people ... through the middle age, they realize that most of their life is behind
them.

a) forget b) progress c) search d) pay

47) Becoming a parent is generally taken as a sure ... of adulthood.
a) method b) trouble C) position d) sign

48) The false theory of spontaneous generation was disproved by Louis Pasteur.

a) automatic b) superstitious c) circumstantial d) instant

49) If severe hemorrhaging is not stopped, death can result in minutes.
a) coughing b) trembling c) paralysis d) bleeding

50) About one-third of Canada’s people inhabit the province of Ontario.
a) inherit b) reside in c) depart from d) are born in

51) Emergency food and clothing are needed at the earthquake site.
a) periphery b) centre c) shelter d) damage

52) Laura Scudder’s singular concept of pre-packaged potato chips made her a legend
in the food industry.
a) unique b) familiar ) unknown d) unappreciated

53) Apples not only contain several essential vitamins but have been proven to aid
digestion.
a) extra b) common ¢) unusual d) important

54) Exposure to language and motivation are crucial factors in language learning.
a) moderate b) vital C) mere d) drastic

55) Many icebergs are as large as small islands and become a menace to navigation.
a) caution b) warning c) forecast d) danger




Part D: Reading Comprehension

VA :
4 Read the texts carefully and choose the best answer to the questions that follow.

m Reading 1

Two well-known residents of Forest Hilltop, Flora Jones and Francis Smith, were
married in a meadow near Smith’s cabin on Sunday, August 4. The double-ring nuptials were
performed by Horace Dooley, minister of his own Church of the True Faith. The bride was
attended by Colleen Jones, the bride’s daughter by a previous marriage, and Kristina Svenson,
a longtime resident of Forest Hilltop. Verity Smith, the groom’s daughter by a previous
marriage, acted as flower girl. The duties of best man were shared by Daniel Lion and Rory
Whitney. Mr. Lion read a selection of poetry by Shakespeare, and Mr. Whitney read a selection
from Wordsworth’s Prelude. Music for the ceremony was provided by the bride’s brother,

James, from London, who accompanied vocalist Marilyn Horn, a Forest Hilltop neighbor.

Also performing at the ceremony was Samuel Cantor, a friend of the groom from Los
Angeles, who sang several of his own compositions, accompanied by James Guidry, of
Washington, D.C., and William Morris, of New York City. Playing the flute, James Guidry led
a procession of wedding guests and the groom’s party from the groom’s cabin to the meadow
site of the wedding. Following the ceremony, the wedding party and guests strolled back to the
cabin, where a reception was held for over 100 guests.

56) What type of place is Forest Hilltop?....

a) Urban b) Suburban ¢) Rural d) Metropolitan

57) This wedding would be considered ....
a) traditional b) original c) lovable d) familial

58) The wedding was performed by ....
a) a man who has formed his own sect ¢) a friend of the family
b) the bride’s brother d) the bride and groom

59) Apparently a vocalistis a ....
a) female b) wedding guest C) singer d) neighbor




60) Apparently Mr. Cantor is noted for ....
a) his friendship with the groom c) his attendance at the wedding
b) writing music d) his residence in Los Angeles

61) Included in the wedding ceremony was a ....
a) dance b) cabin c) welcome speech d) poetry recital

62) The wedding took place ....
a) in a cabin b) in a church c) outdoors d) in a city

63) The reader knows that this is not the first marriage for both bride and groom
because ....

a) it included two daughters

b) the guests came from many different places

c) it took place in a meadow

d) the minister was of the Church of the True Faith

64) Because a cabin is usually a small building, the reader infers that ....
a) it is constructed of wood

b) the reception was held outside the cabin

c) it was a temporary residence

d) the bride and groom will not live in it

65) Presumably this wedding announcement appeared in a(n) ....

a) metropolitan newspaper c) alumni bulletin
b) musical review d) small-town newspaper

Eﬂ Reading 2

On July 4, 1776, a conclave of insurgent colonists in America passed the Declaration
of Independence. War against the British had already been going on for over a year, so the
Declaration came as the culmination of years of tempestuous events in America. The impetus
for the American Revolution was the Treaty of Paris in 1763, which ended the struggle between
the British and the French for control over North America. Since the colonists no longer were
intimidated by the French, they ceased to rely upon the British for protection and were not as
submissive as they were formerly. On the other hand, the British regarded the colonies as a
source of revenue and began to impose inequitable taxes upon them. The Sugar Act in 1764
and the Stamp Act in 1765 were so vehemently opposed by disgruntled colonists that rioting

broke out. The Stamp Act was repealed in 1766 as a result of the riots.

The British continued their policy of taxation without collaboration with their once
docile subjects. The Townshend Acts (a series of taxes on glass, lead, paper, and tea) created

such antipathy that the citizens of Boston attacked British soldiers who fired upon them. That




was the Boston Massacre of 1770. After the repeal of the Townshend Acts, a new tea tax in
1773 again consolidated Boston residents’ dissension. About fifty men disguised as Indians
boarded British ships and jettisoned their cargo of tea in protest against the tea tax. That was
the famous Boston Tea Party. In reprisal, the British abolished the Bostonians’ right to self-
rule, and by passing what were referred to as Intolerable Acts in Boston, they infuriated all of
the colonies and caused them to unite in protest. Representatives from twelve colonies gathered
in Philadelphia in 1774 to plan a stratagem to circumvent British interference in trade and to
protest the infamy of taxation without representation. The British responded that the colonies

were in rebellion, and, since nothing would appease either side, both sides prepared for war.

66) The author’s intent in this passage is to ....
a) tell about the American Revolution

b) describe the temperament of the colonists

C) give the causes of the American Revolution

d) describe the effects of the American Revolution

67) You may infer that the Treaty of Paris ....

a) gave the French control of Canada

b) gave the control of North America to the British

c) made the colonists in America very angry

d) had an immediate effect upon colonists’ desire for independence

68) The colonists after the Treaty of Paris did not need the British because they ....
a) were independent

b) didn’t like to pay taxes

c¢) didn’t need protection from an enemy

d) made a treaty with the French

69) The Sugar Act and Stamp Act were ....
a) passed in 1765 b) taxes upon the colonists C) repealed d) equitable

70) The first violent protest against the British was made in ....
a) 1764 b) 1765 c) 1770 d) 1773

71) You can infer that in the Boston Massacre in 1770 ....
a) Boston was a battlefield

b) Boston residents wanted independence

c) colonists were killed

d) British soldiers sided with Boston residents

72) The Boston Tea Party was ....
a) a celebration in Boston ¢) an Indian rebellion
b) held on board a British ship d) an act of aggression by the colonists




73) You can infer that the Intolerable Acts ....
a) were repealed ¢) infringed upon colonists’ rights
b) displeased the British d) were entirely related to taxes

74) You can infer that the meeting in Philadelphiain 1774 ....
a) was a very important social event

b) took place to discuss taxes

c) was a conclave of the British and the colonists

d) was the first time the colonists united to protest British injustice

75) The British and the colonists went to war because the ....
a) colonists wanted independence from their rulers

b) British fired at the Bostonians in the Boston Massacre

c) Bostonians dumped tea in the sea at the Boston Tea Party

d) colonists objected to taxation without representation

Eﬂ Reading 3

The Federal Surface Mining Act was passed in 1977 for the laudable purpose of
protecting the environment from the ravages of strip-mining of coal. For many years,
environmentalists had fought to get the bill passed. Strip-mining menaces the habitat of wildlife
and causes incalculable damage to the environment. The law is explicit on such matters as
where strip-mining is prohibited, the disposal of toxic waste, the placement of power lines, and
the rights of the public to take part in the control of strip-mining. However, the Secretary of
the Interior has recently incurred the wrath of environmentalists by advocating numerous

proposals that repudiate the existing law.

According to the law, strip-mining is prohibited in national forests, national wildlife
refuges, public parks, historic places, and within a specified number of feet from roads,
cemeteries, parks, houses, and schools. The exception to this prohibition is stated in the words
valid existing rights, referring to those miners who had rights in protected lands before the law
was passed. By redefining “valid existing rights,” the local government could infringe upon
the law by opening over a million acres of national forest and wildlife refuges to strip-mining.
Naturally, the National Wildlife Federation is appalled. This proposal does not augur well for
wildlife, which will be destroyed by such latent killers as power lines and tainted ponds near
strip-mines. It doesn’t require a sage to foresee the wrangle that is forthcoming between
proponents of conservation and the government. The consensus among environmentalists is
that unless they obstruct the regulations, this land will be ravaged and our wildlife severely

maimed by strip-mining companies for the sake of a few pennies’ profit.

—_—




76) From the context of the passage, the meaning of strip-mining is ....

a) the mining of coal on public lands
b) surface mining

c) shaft mining

d) illegal mining

77) The Federal Surface Mining Act ....
a) limits coal production

b) prohibits strip-mining

C) restricts strip-mining to specific locations
d) menaces wildlife

78) The expression existing valid rights refers to ....
a) mining rights in existence before 1977

b) miners’ rights that cannot be violated

c) the right to mine coal any place in the United States
d) the right to mine on protected land

79) Wildlife is endangered by ....
a) coal mining

b) the Secretary of the Interior

c) toxic waste in bodies of water
d) migration paths

80) The proposed regulations will ....
a) curtail the rights of environmentalists
b) increase the area of strip-mining

c) help clean up the environment

d) cost miners a lot of money

THIS IS THE END OF THE TEST.
Good Luck
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